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freafafaa 4 faga @ 2
(a) ¥ (b) ¥
(c) ‘F (d) ‘3
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(a) femt dfy -

(b) TR &y

(c) = Gy

(d) 3% § & =g T

o et wreg, 3 forep R & e w2, 90
w8

(a) g™ (b) ferro
(c) &g (d) S
‘qftama’ wrsg 1 e @

(a) S

(b

) ST
(c) SHM
d) |am

soft 7 fY’ oS- Teharfasiom 8 ?

frfuifiga aredl § -9 T Rz feg 6

FRAYEE 7
g, =18 St ¥l B | T R gl e

(c) s, T8 a1 ft 1, T gt w2
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< (b) ula'l%ﬁ’m‘ﬁ'(ﬁIHWETgé‘aa:{m-gl
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suifeifiga menw 1 s 4 ufeu qun wea d@en
8 A 12 % IW 3H TN F YR W AT |

“enf A9 o iR Fifgd o w1 fawm B 7 e T A
e 1 2, 7 wnfifes it # | a8 e sl § fara
T 2 |7 “ud rufavar T8 8, ud Jrciifhsar H T8l
2, 8 e 1 37eawd @Ik a8 | A | ofe i
To01 8, 3 S I HEAT 8, TF 3R < T 6
& = & | pla, 79 3R s 3 FEd ' w A g,
I T A % 359 TR W ol ST =1z | @ S
TR 37 2, 98 ud o 3T gl B | SfieH 1w SRl
£M 2, 3 F e adl ST e Bl # |

8. ImfEd e 1 3t ¥ & Wbl B 7
(a) IIH! HGUE HT TET
(b) HH % &I
(c) GE@ & w&T
(d) uH &1 =&Y
9. e % Ie9 'R W g & o R Al

STEYIHRAl gt 8 ?
(a) T, @ IR A

10. ef wyea o femeret forehmq <At @ 7

1. i el frama St @ 2

(b) g H
(c) i H
(d) 3ferd # A foret B
ma—mémﬁ
(b) ag]’jﬁ’cl’-‘{qgl:ﬁ?awqﬁ%
(c) & d
d) Je W
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13. ﬁm%ﬁgﬁﬁﬁ'm’%ﬁqqﬁq_mwwqﬁ 17. ‘3 HARRT A e AR F e 2

gt ? (a) 3o SafF & @ T farg
(a) SEAT (b) T (b) 3reTa s et
(c) @YE (d) 3= (c) @UE @HT FM

(d) ITEvEHA ¥ AU FEH &1 g

14, ‘IyTAfEd & -
|1 @0mg R 2 18. frefaRaa auit 4 S-a1 avf g 7Hid ¢

(6] e (b) =ity (@) (b) 2
(c) =T (d) fi € T (d) 3
15. ‘ARE’ v &1 e @ 19. fr=feRed it aurt 4 @ ‘s SF-a
(a) Wg (b) wTeTEH auf § 7 .
I, S b) ‘¥, ‘A’
o g v 8 LN
16.  Tomsfifer =1 a7ef 2 20. EaTE! gl % fawd o Ry 1 Pefafea s
(a) Sfied it 3= ¥ SH-91 HUT G @2 ?
(b) S it =& (a) ‘g’ﬁmﬁﬂ,ﬁﬁ%ﬂ' ?ﬁmﬁaﬁ?ﬂ%
; _ (b) T IH GEY FHHR Fl TgIAT T
() T (c) e awra § F 1 w8 &1 W H' &l 3
(d) Ig h gZo1 (d) ¥E F GY A w1 T g T2 2

Instruction for Question Nos. 21 to 25 :
Read the following passage carefully and answer the following questions that follows :

Education is a device for helping a man to grow o his full stature. It enables him to realize his nature both mentally
and spiritually and in that realization to become all that he has it in him to be. It is to the child what perfect gardening
is to the tree, a help so to grow that it may develop its own personality. A good gardener helps each plant to put
forth that essential quality of its own that differentiates it from all other plants and makes it a thing of use and beauty

in the world. The good education performs a similar office for the human being.

To the man of trained faculties and developed tastes the world becomes literally a larger place, larger and the more
exciting. He is able to see in it more beauty, more variety, more scope for his sympathy and understanding than
he saw before. So far as the understanding of the universe is concemed while education diminishes certainly of
what is. it widens his sense of the possibilities of what may be and transforms the world from humdrum scene of

workshop, factory and office to a universe of mystery and treasure house of beauty.

, dener ? 22. The passage “universe of mystery and atreasure
21, What is the work of a good gar .
(a) To help each plant to take water tial (r:;USZI::nbge:l:itiyanntlgadr:asvelop the best in him
(b) To help each plant to put forth the eSS (b) Universe full of mysterious and beautiful things
ity of its own (c) Education of universe makes a man wise
quall and beautiful
(c) To help each plant to grow (d) Education of universe makes him bounteous
to be green and healthy and large hearted

(d) To help each plant
2%
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23, The world becomes a larger place and the more | - 30.  Which of the following word is wrongly speit 2

exciting (a) Correspondence
(a) For a wrestler (b) Conscience

(b) For a thief (c) Occurrence

(c) For a cheat .

(d) For a man of trained faculties and developed (d) Conveneince

tastes
31.  Change the sentence “let it be done at once” into
active voice.
(a) Let it happen at once

24. Education enables a man
(a) To realize his nature both mentally and spiritually
(b) To become a gardener

(c) To be physically strong (b) Do it atleast once
(d) To become a successful person (c) Let it occur at once
(d) Do it at once

25. What an educated man is able to see in the world ?
(a) Mountains, hills and bushes
(b) Roads, meadows and inns 32. Punctuate the following sentence :
(c) More beauty, more variety, more scope for his “Whatever is is right.”
sympathy and understanding than he saw before

. -
(d) Rivers, lakes and rocks PE AL g, s right |

b) Whatever. Is is right.
c) Whatever is, is right.
)

26. “White elephant” means
d) Whatever, is, is right

(a) Arare object

(b) An uneconomical possession
(c) An object that dogs not exist 33. ‘In the pipeline’ means
(d) A useful possession

(
(
(
(

(a) In the process of being developed

: ; _ (b) Partake
27. Choose the correct conjunction from the following :
options to complete the sentence : (c) Plr.macle
“He got he was ill". (d) Prions
(a) Until
(b) Because 34 In the sentence, “he finished the job at one o',
(C) Atliaugh the word ‘go’ is
(@ If (a) Verb
28. Choose the correct synonym of the word (b) Noun
‘abominable’. (c) Adverb
(a) Disgusting (d) Adjective
(b) Cold
(c) Abusive 35. Change the sentence "I never eat meat, he
@), et explained” into indirect speech.

29. The word ‘rendezvous’ means (a) He explains that | eat meat
lained to eat meat
(a) Endeavour . (b) He exp
(b) A place appointed for a meeting _(c) He explained that he never ate meat
(c) Asecrel place (d) | explained that he never eats meat
(d) Adventure
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36.

3.

38.

39.

40.

41.

42.

43.

44,

If e 2-— then the value of x g is
y x3 +yS

equal to

(@0

(b) %

(d) 1

c) 3
© ¥,
A and B are two sets. A has 10 members and

B has 18 members. A U B = 20. The number of
members in A N B will be

(a) 10 (b) 12
(c) 8 (d) 6

The diagonals of a rhombus are 32 cm and
24 cm. Its perimeter will be

(a) 50 cm (b) 60 cm

(c) 70 cm (d) 80 cm

Two variables y and x are related asy = 5x + 4. The

arithmetic mean of x is 10. Arithmetic mean of y
will be

(a) 50 (b) 54
(c) 29 (d) 46
The mean of first twenty positive even numbers is
(a) 20 (b) 18
(c) 17 (d) 21

Which one of the following is a paralinguistic cue
in communication ?

(a) Facial expression (b) Gesture
(c) Tonal pitch (d) Posture

In which type of communication network there is
likelihood of emergence of a group leader but lower
satisfaction among the member of the group ?

(a) Wheel type (b) Circle type

(c) Chain type (d) Barred type

Which ofthe following is an example of organisational
silence in upward communication ?

(a) Distortion (b) Delay
(c) Filtering (d) Lack of response

Which of the following is NOT a form of positive
listening ?

(a) Diagnostic listening

(b) Reflective listening

(c) Empathic listening

(d) Judgemental listening

36.

37.

38.

39.

40.

41.

42.

43

44,

RFL -
X x + xy?
iﬂi%=2‘_y” X3 +y3 RURLIER L
2
(a) 0 (b) /3

ATE B 895 € | A 10 ¢RI § e B 18 5em
£ 1AUB=20,q AN B foh wew & 7

(a) 10 (b) 12

(c) 8 (d) 6

Tt amrara o faerl 32 @t qem 24 9t B | 3T
gfET ghm

(a) 50 & (b) 60 @t
(c) 70 @i (d) 80 @t
A W y W x FEfaRad yR 8@ e 2

y=5x+4 | I x F qUHAR 7T 107, d y
1 AT /I BT

(a) 50 (b) 54
() 29 (d) 46
YU o9 YTeH T GEA131 %1 W B
(@) 20 (b) 18
() 17 (d) 21

frefiRae 3 & BH-a e  wofa g 8 7
(a) qETHdE feafd  (b) EE-WE
() TR wraret §uo (d) A

e BT S GO e  Gig o a1 % 3¢
AT Bt 2 S T o wewl A i
Bt B ? .
(a) =5 ST A (b) TR SR A
() sfaen SHRE  (d) A A

Prforfag 3 @ s-an e @ i
HTaTer WA 1 T IE @ 7

(a) frpfa
(c) freug o
Ao i & s e 40 A E
(a) Aerfaes Hau

(b) wrafda sau

(c) Tufarer e
(d) fAviarenes &

(0) T et
(d) iRl

T S s



45.

46.

47.

48.

49.

5

51.

©

ingtion
Which of the following is NOT 2 communicatio
barrier related to noise ?
(a) Perceptual problems
(b) Information overload
(c) Dyadic archetypes
(d) Cultural differences

Cross-departmental Committees are the form of

(a) Optimum Communication
(b) Upward Communication
(c) Downward Communication
(d) Lateral Communication

In the communication process, successful
transfer of message can be checked through
(a) Encoding (b) Medium

(c) Feedback (d) Passive decoding

Aman pointing to a photograph says —“The lady in the
photograph is my nephew’s matemal grand-mother”.
How is the lady in the photograph related to the man'’s
sister, who has no other sister ? She is

(a) Cousin (b) Sister-in-law

(c) Mother (d) Mother-in-law

Find the comrect altemative from the following :

Ocean : Pacific: : Island : ?
(a) Greenland (b) Ireland
(c) Netherland (d) Borneo

Arrange the following in a logical order :
1. Frog

2. Eagle

3. Grasshopper
4. Snake

5. Grass

(@) 1,3,5 2 4
() 5,3,1,4,2

(b) 3,4,2,5,1
(d) 5,3,4,2 1

Find the number of triangles in the following figure :

(a) 12
(c) 14

45.

46.

47.

48.

49.

50.

51.

aR-fovrfta it &y 2
(a) 35¢AH TR

(b) ST Ty
(c) FYTIR Fxdwy oy
(d) WIivde gy &

TG YA §
<l I gehelt 3

(8) BT GU  (b) Wiem g

(c) wfgfee grm (d) AfSra frdda g

U Safi foredl wiemms @ @ &e @@ & -
“mﬁﬁhﬁwﬁuﬁgm% "
BT I 28 ufee 1 39 afed ) 981 ¥ 7
Y 2, faehl 3= i w8 T8 § ¢ 98

TN FYRY Y gwerr € g

@) TR () R

(c) @ & (d) 9 2
f=fafaa 4 @ wd fasew &1 =997 Hifow
HETETR ; 9T HETEPR : : g @ ?

(a) HHITE (b) IS

(c) fieteive (d) st
fyfafad @ @i %9 § sgafeyd IR ¢
1. Ueh ¢

2. 99 ¢

3 fegr.

4. G-

5. 918"

@ 1,3524 (b) 3,4, 25,1
(c) 53 1,4,2 () 5,3,4, 21
ﬁw%r%ﬁy@ﬁﬁﬁgﬁﬁaﬁmmﬁﬁ\’:
(a) 12 (b) 13

(c) 14 @) 15



52

53.

54.

95.

956.

7.

98.

9.

Amonkey climbs a 12 meters hinw .«
In his first minute, he climeSZhrlggt:Irlg perg pillar.
and in the

next minute, he slips one me
how much time will he taket?:)down' In this way,

the pillar ? reach the top of
(a) 10 minutes (b) 21 m;

12 min mMinutes
(©) utes (d) 11 minutes

Match the List—1 with the List—||

: a
answer using the codes given berllgvset:\egiﬂ;t? correct
List—1 List—p

A. Allmen are mortal. 1. Universal negative

B. No man are perfect. 2 - ,
C. Some students 3. Particular negative

are intelligent. gf?ilrvrr?;sti/le

D. Some farmers 4. Particular
are not rich. [ i

- affirmative
A B C D

(a) 1 3 4 2

(b) 2 4 1 3

(c) 4 1 3 2

(d) 3 1 4 2

The process of judging some problem situation
on the basis of its similarity with one encountered
earlier, is known as

(a) Anchoring heuristics

(b) Heuristics of representativeness
(c) Adjustment heuristics

(d) Availability

Which one of the following sometimes hinders
the problem solving ?

(a) Heuristics (b) Mental set

(c) Analogy (d) Algorithms
Which of the following decision making style takes
longer time ?

(b) Behavioural style

(a) Analytical style (d) None of the above

(c) Directive style
The proportion of various sectors in a pie chart
is directly proportional to

(a) Perimeter of sectors

(b) Angle of sectors

(c) Area of sectors

(d) None of the above

13,
Mode of the observations 10, 11, 16, 17,12,

17.16. 16, 12, 16, 10, 15,16, 10 is

(a) 13 (b) 15

(C)) 16 (d) None of the abhove
The principal use of definition’ i tofe|:r:r|rr::1t:r
(a) Logical forms (b) Rule§ Oitg

(c) Meaning (d) Ambiguty

52

53.

54.

55.

96.

57.

58.

59.
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e d 12 Hiet I T @ W g 3 | g
firre 1 @ 2 T Tl @ 3 AT fime 3 1 dfvey
$ fopeet I 2 | ¥ TR T8 fohe w § @y
¥ oid ® vga IR ?

(a) 10 fire (b) 21 fire

(c) (d) 11 fire -
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ot - | TR -

A, @t TE ORI 21 1. Feerdt s
B. I TT U @ 81 2. e P
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D. o foram ot T 81 4. ST WehRICH
Fe

A B C D
@1 3 4 2
02 4 1 3

4 1 3 2
T T a2
frdt gmen 6 feufy § g 8 e A R geen
§ AT & AU T 6 wfsran =l Fed &
(a) 3NV @Y

(b) wffifrerar &1 Ty

(c) HAPREISH Ty

(d) IueTsydl

freffiad § @ S -T1 gwe guYH d
Fefi-ft STeT I HTT R ?

(a) Ty (b) " o=

(c) HTg¥al (d) TeTes
ﬁm%{%aﬁﬁaqﬁsﬁﬁﬁﬁmﬁmmm%?
(a) faverumens Sl (b) SaERIh Al

(c) Fréamens Je (d) Irdw § A A T
s e fo § fafie geel & FATd FHEIT

Yai 10, 11, 16, 17, 12, 13,17, 16, 16, 12, 16,
10, 15, 16, 10 %1 FEA &

(a) 13 (b) 15 _
(c) 16 (d) I A g
o P ey ) sogg TR i?
(a) arfda amHER & (b) FE é_;_) fam

(c) %4 &% (d) e
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60.

61.

62.

63.

64.

65.

66.

Any valig standard form of cate
with a particular conclusi
premises will commit the
(@) liicit major
(c) llicit minor

gorical syllogism
on and two universal
fallacy of

(b) Existential fallacy
(d) Undistributeq middle

The Missing number (?)
60, 180, 90, 270, ?, 405
(@) 675
(c) 360

in the following series
is

(b) 540

(d) 135

The. age of father is twice that the sum of ages
of his two sons. 20 years later, the age of father

will become the sum of ages of his two sons. The
present age of father is

(@) 40 years

(b) 60 years
(c) 30 years

(d) 50 years

Complete the Sequence with the correct option
from the following codes :

EGIK: FILO:: FHJL: ?

(a) JGMP (b) JGPM
(c) GJPM (d) GJMP

How many 4's are there in the following which
are preceded by 7 but NOT followed by 3 ?

993217426974613287413832556
74395820187463

(a) Four (b) Three

(c) Six (d) Five

In a row of boys, if A who is 10t from the left
and B who is 9" from the right, interchange their
positions, A becomes 15t from the left. How
many boys are there in the row ?

(a) 24 (b) 31
(c) 23 (d) 28

Arrange the words given below in a meaningful
sequence :

1. Presentation

2. Recommendation
3. Arrival

4. Discussion

5. Introduction

(@) 3,5 1,4,2

(c) 3,5,4,2 1

(b) 5,3,4,1 2
(d) 5,31,2 4

60

61.

62.

63.

64.

65.

66.

RFL -

: %@ﬁéummwﬁtﬁamﬂﬁm
ﬁﬁﬂziﬁ@aﬁmma&wtﬁ,aﬁmﬁ
TR Rfya g
(a) i g 72
(c) afe anger e

frffag TG

60, 180, 90, 270, 2, 405 & Tt w1 (7) 2
(a) 675 (b) 540

(c) 360 (d) 135
ﬁmﬁmmagﬁﬁm%waﬁ‘g—ﬁ

%moaﬁmﬁm?ﬁmaﬁgﬁ%m%
aﬁn%wa‘raﬁmlﬁmaﬁaﬁmm%

(b) &ETeH ey
(d) =T qegy

(@) 40 =¥ (b) 60 a4

(c) 30 =d (d) 50 o
ﬁw%ﬁgaizﬁﬁﬁﬁwﬁmmmaﬁ
ot i ;

EGIK: FILO :: FHJL : ?

(a) JGMP (b) JGPM

(c) GJPM {d) GJMP
ﬁrmﬁfrftaﬁmﬁ@ﬁﬁﬁ%é?%,ém
sIe d 3R ¢
59321742697461328741383256
74395820187463

+a) =R (b) &=

(c) ®: (d) =
agﬁaﬁ@tif%ﬁaﬁ;\,aﬁaﬁtﬁméwm
qt%aﬁxsaréafr{ﬁgéwnm%,wﬁaﬁmﬁ
wﬁmﬁméﬁ%,a‘ma@aﬁzﬁ 154
RAH RE 1R | U A et R e B o
(a) 24 (b) 31

(c) 23 (d) 28
ﬁfm@mﬂﬁmﬂmmﬁm%mﬁm:
1. yedfa

2. w&fd

3. IMmA

4. =94

5. uftey

(a) 3,5 1,4,2 (b) 5,3 4, 1,2

(c) 3,5,4, 2,1 (d) 5,3,1,2,4



68.

69.

70.

1.

2

73,

of this work in
(a) 19 days
(c) 27 days

cross each other in
(a) 6 seconds
(c) 9 seconds

(d) 10 seconds
Ifx3 + y3 = 35 and Xy =6, x >y, then value of
(x-y) will be
(a1 (b) 2
(c)3 (d) None of the above

If (x - 1) and (x + 1) are two factors of the
polynomial X8 — 1, then its other factors are

@ (x2+1), (2 +x+1)
(b) (x2 + 1), (x2 =x—1)
) x2=x+1), (x2+x+1)
(d) (2 =x=1), (x@+x-1)

Arectangular field is 112 mt. long and 62 mt. broad.
A cubical tank of edge 6 mt. is dug at each of the
four corners of the field and the soil so removed
is evenly spread on the remaining field. Find the
rise in the level of the field.

(a) 13.13 cm (b) 11.9cm

(€) 12.7 cm (d) 14.24cm

of a metal is

The radius of a solid sphere 4 mm can be

3 cm. How long wire of diameter
drawn from it ?
(a) 8.8 mt.
(c) 9.6 mt.

(b) 9.0 mt.
(d) 9.1 mt.

nan examination.

Seventeen candidates appeared| ho failed in the

The marks of the candidates “8/ 7.5,4,6.The

inati 8 8 1/ ;
examination are 10, 9, 6, 7. &  iates. s
median of marks of all seventeen can

T
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3maﬁm73ﬂlﬁ@¢rﬁﬁ32ﬁqﬁ1§,méﬁ
§|7,31Etﬁ3ﬂ153ﬂ1ﬁmm§ﬂﬁmﬁ
qU HT

(@) 19 fei & (b) 21 fei §
(c) 27 feAi 4 (d) 36 fei
127 Hiex 3fit 98 Hiet wwll 2 Yermfier famtig feomsi

T SFAGER 35 Tl /9 1 55 fhll. o ) 9re @
@R |ﬁaﬁ%%ﬁmmé@—?@ﬁ
R R IR—I ?
(a) 6 THIS
(c) 9 EHUE

(b) 8 dFUE
(d) 10 Asrvg

A 33 +y3 =353 xy =6, x>y, @ (x—y) =
LicRaut
(@ 1
(c) 3

(b) 2
(d) 37 & @ = 7

afe 5598 X8 — 1 % T HETE (x - 1) T
(x+1) 3, @ 3TH I rETS 3

(@) (2 +1), (x2+x+1)

(b) (x2 +1), (x2=x-1)

(©) B=x+1), (x2+x+1)

d) (2 =x-1), (x2+x—=1)

T FYATHR Gd 6 o 112 #. du e
627, 8 | 6 4. fHIR 1 U TR ¥ Wd & 9/
HH W @R MU AR AN A e T 38 ¥ @A
R grad fost fean mn | wa & & § ¥gd gan
(a) 13.13 ot (b) 11.99H
(c) 12.7 qt (d) 14.24 @it

forelt u1g % ek 31y e i B 3EH 2 1 TR
4 Tt =rg & fopa @ A Wi S EeRdT R 7
(a) 8.8 Hix (b) 9.0 Hi&X
(c) 9.6 M (d) 9.1H

wg i feneht wlten  wfirferd & |sﬁamnﬁ7
wlle H kel g4 9 W 10,9,6,7,8,8, 7,
5, 4,6 | @it gg anafidl & i 6 HfeE 8
(a) 6 o7

© 9 (d) 3 § @ T
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Which of the following is NOT an interpersonal
barrier in organizational communication ?
(a) Ethnocentrism

(b) Semantics

(¢) Ingratiation

(d) Impression management

Highest degree of communication openness is
found in

(@) Informal communication
(b) Meta-communication
(c) Direct communication
(d) Indirect communication

Which one of the following behaviour is the most
appropriate for diffusing verbal abuse of co-workers ?
(a) Become defensive

(b) Get into debate

(c) Refuse to accept harmful language

(d) Keep aggressive body language

‘Proxemics’ is related to

(a) Neutral Communication

(b) Unidirectional Communication
(c) Verbal Communication

(d) Non-verbal Communication

The key element for effective interpersonal
communication is

(a) Abstraction

(b) De-sensitization

(c) Active listening

(d) Ego-centric reinforcement

Which one of the following is related with
organisational ecology ?

(a) Centralized Communication

(b) Upward Communication

(c) Lateral Communication

(d) Downward Communication

Smita reckoned sixteenth from the top and
twenty-ninth from the bottom among those wh_o
have passed an examination. Six students did
not appear in the examination and five failed in
it. How many students were there in the class ?
(a) 40 (b) 44

(c) 50 (d) 55

Ravi started walking towards East. After moving
a distance of 1 km, he turned Southwards and
walked 5 km. Again he turned to East and walked
2 km. Finally he turned to the North and walked
9 km. How far is he from his starting point ?

(a) 7 km (b) Skm

(c) 4 km (d) 3km

-10-
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ATSTensh geyyy § fefafaa § & sF-@
A fedeh @0y T8 & 7

qeiw FyseRyedr &1 Ieadq W 1 ST 8
(a) =i FEoyor |

(b) WeT-TES§T §

(c) eae TEiyor §

(d) TIIE TEI §

freferfiad § @ S -a1 saaen ettt & e
Jayreg W Tt T & 3 gaifies 3uged &
(a) &R &1 ST

(b) aTe faare # wgm

(c) BIFEhITeh W &1 EhehR HW d T

(d) JTHHS & AN SR &I

(d) uFTH e

foreft whien @ I<fil gu o A fova W W A w=E

168 aun 19 & 297 o1 | &: @l 3 wdan vig fa 3

5 T IGH R0 @ | e A oA fohan B & 7

(a) 40 (b) 44

(c) 50 (d) 55 .

04 3 gd ) 3 = o fan, 1 ol wom &

I a8 efdur Il wWE g3 Tl & 3R 5 forfi. Fwa

R | 3 @ qd o s e @ ol 2 fefl. aerar @ |

- AR a8 I ) R/ et & 3R 9 fepl. =t

%la@mﬁwﬁgﬁasq‘éwﬁ W7

(a) 7 ot (b) 5
d) 3

%,M

.

¥
5

(c) 4 fa . ( :



82.

83.

84.

85.

86.

Which one of the following dia

represents the relationship amo
‘Mouth’ ?

grams properly
ng lBody»' ‘Earl'

(b) ( % )
Four_m_en A, B, C, D and four women W, XY, Z
are sitting around a table facing each other, I

i. No two men or women are sitting together,
ii. Wis to the right of B.

iii. Y is facing X and is to the left of A.
iv. Cis to the right of Z.

(a)

(c)

Q©

Then who are the two persons sitting adjacent
toD?

(a) Wand Y
(c) Xand Z

(b) Xand W
(d) Wand Z

In a certain code, 15789 is written as XTZAL
and 2346 is written as NPSU. How will 23549 pe
written in that code ?

(a) NPTUL (b) PNTSL
(c) NPTSL (d) NBTSL
Find the missing number in the following figure :
04 05 06
02 03 07
01 08 03
21 98 ?
(a) 94 (b) 88
(c) 92 (d) 86

Which one of the following refers to the ‘framing

effect’ in the context of decision making ?

(a) The way in which options are presented
influence the selection of option

(b) Choosing the option having highest
expected utility

(c) Akind of set points of thought in wrong
direction

(d) Looking for evidences that will confirm what
are currently believes

1.

82.

83.

84.

85.

86.

RFL -

frafafed & @ SF-a1 Warfm wv, H, e %
ey I g Tk | ST 1 R 2

(c) . (d) G{ZZ)

R G®Y A, B, C, DT SR AT W, X, Y, 2w it
W P Th GE H TE U R 43 3 | o
i. g ot < 7o IHYET fgen wr-mmy 78

R
ii. W, B aIfed @& 331 2 |
i Y, X % G 1A F ol 4d) 2 |
iv. C, Z% T1fe T a1 2 |
WAAHTE, S DF AT A3 & 7
(a) waan Y (b) X@&u W
(c) Xau Z (d) Waen z
%@ﬁﬁ%a@wﬁwmgﬁxnﬂaﬁtzm

% NPSU % &9 & foy@r mar 2 | 3 He wmr §
23549 i forE yR fomar s 7

(a) NPTUL (b) PNTSL
(c) NPTSL- (d) NBTSL
frfafea sl § qea 3 3@ Hifve
04 05 06
02 03 07
01 08 03
21 98 ?
(a) 94 (b) 88
(c) 92 (d) 86

fofe & & def & Wi e’ frafolea & @

g Seot@ s & 7

(a) ferhedl 1 wegfr 1 g, fepew & =
I & 2

(b) 38 frere o1 == 1 Foraeh! ST I
aifies 8 .

(c) TTera fogm # frerl % fara firgeft 1 T SR

(d) 9 3remt Y e S AT ot A g
T &



87.

88.

89.

90.

91.

92.

93.

94.

The tendency of members in a highly cohesive
group to lose critical evaluative decision
making capabilities is called

(a) Group think

(b) Assertiveness

(c) Group polarization

(d) Cognitive dissonance

The decision making style that “overly concerned
with keeping everyone happy” is called
(a) Conceptual style

(b) Directive style

(c) Behavioural style

(d) Analytical style

Which one ofthe following is NOT a rule for estimating
the likelihood of outcomes of any decision ?

(a) Assessing utility (b) Representativeness
(c) Availability (d) Adjustment

In a valid standard form of categorical syllogism,
if predicate term is distributed in the conclusion,
then it must be distributed

(a) in both the premises

(b) in minor premises

(c) in major premises

(d) in none of the premises

Probability is an attribute of
(a) An inductive argument
(b) A deductive argument
(c) Disjunctive proposition
(d) Categorical proposition

Which of the following decision makers are teng
to be good at discovering creative solutions to
the problems ?

(a) Directive style decision makers

(b) Analytic style decision makers

(c) Conceptual style decision makers

(d) Behavioural style decision makers

If‘Ais B's sister, ‘C'is B's mother, ‘D' js ¢
‘E’ is D's mother, then how is A related
(a) Grandfather

(c) Grandmother

s father,

toD?
(b) Granddaughter

(d) Daughter
If you write down all the numbers from
then how many times do you write 37
(a) 20 (b) 11

(c) 21 (d) 10

110 100,
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(a) 998 9=

(b) @AY
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(a) "I St

(b) Frcumens deht

(C) BRI Heft
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% I 1 i 7
(a) I =1 3R
(c) 39ctsydr

(b) wfafferemar
(d) TEmEeH
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3§ e &, df 38 AT g1 8nm
(a) F1 YR SR |
(b) 3THEA YR I H
(c) H&I YR e |
(d) foreht oft SR AT | @
SEETEIdT T 8
(a) SHFTHATCHS Jfed T
(b) P Jfd
(c) TorioTeh qehar
(d) Frefires deharad Hl
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95.

96.

97.

98.

99.

100.

What number would come in the place of
question mark ?

/N

4 18
72 40
\/
(a) 72 (b) 84
(c) 68 (d) 66

Choose the odd pair of words :
(a) Volume : Litre  (b) Pressure : Barometer
(c) Length : Meter (d) Resistance : Ohm

Read the following statements :
I. Rama is older than Sonam.
Il. Poonam is older than Rama.

Ill. Sonam is older than Poonam.

If the first two statements are true, then the third
statement is
(a) True
(c) False

(b) Uncertain
(d) None of the above

Complete the following series with the correct

option :

3,2,6,8, 18,40, 7

(a) 70 (b) 71
(c) 72 (d) 75

A shopkeeper marks the price of an article 20%
above its cost price. He offers some discount on
the marked price and gains a profit of 8%. Rate
of discount is
(@) 8%

(c) 12%

(b) 10%
(d) 15%

'

If ‘+' means ‘+', ‘=" means ‘x’, ‘'x' means ‘+' and ‘+'
means ‘=, then6+10-4x12+6="7

(a) - 32 (b) 32

(c)-41.4 (d) 48

95.

96.

97.

98.

99.

100.

TR & W

(a) 72 (b) 84

(c) 68 (d) 66

wedi % faem gm 9

(a) 3T e (b) T : A
(c) e : Hict (d) 3y : I
frefifga sl # afe

L, M A EHa g o

I, o, T A FAT R |

I, Sm, THASH A TG R |

af: ved Gl wY T 2, @ AEU FU B
(a) I (b) ffead

(c) = . (d) I # | FI3 T
frefafaa spgen # @8 fsed g g HifT :
3,2,6,8,18, 40, ?

(a) 70 (b) 71

(c) 72 (d) 75

T GHIER PRl T 1 ged I 5 ed § 20%
e 3ifed e 2 | Tr 3ifhd e W S g &l
2 3 8% T T B | gE AR

(a) 8% (b) 10%

(©) 12% (d) 15%

fe v @ e W Rl ad ), X R e+ 3
w oy, a6+ 10F4X12%6=7

(a) -32 (b) 32

(c) -41.4 (d) 48
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